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(P/F, 15%, 8) =0.3269, (P/A, 15%, 7) =4.1604,
(P/A, 15%, 8) =4.4873.
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(1) bRk S B1=3000—1350=1650 (JjJu)
321 bR 5 ik % = 1650/3000 X 100%=55%
(2) FHrIHE=5000/10=500 (J375)
FEIE A =1350+650—500=1500 (J77G)
EEVIEEHHRE=3000X (1—25%) —1500X (1—
25%) +500X25%=1250 (J575)
ol
FEEWIEEFRE= (3000—1500—500) X (1—25%)
+500=1250 (J37G)
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(3) (ONCF,=— (24004+600) =—3000 (JiJG)

@A IHFI=2400/8=300 (JiJG0)

FIERHETEE RS HRE=1800X (1—25%) —
500X (1—25%) +300X25%=1050 (J170)
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FIFERNFTEEWHESFRE= (1800—500—300) X
(1—25%) +300=1050 (J575)

@ BEMI & 1F I & =1050+600=1650 (J375)
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(4) HAE~LKEDE=1050X (P/A, 15%, 7) +
1650X (P/F, 15%, 8) —3000
=1050X4. 1604+1650X 0. 3269—3000=1907.81 (J5
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FEEHE=1907.81/ (P/A, 15%, 8) =
1907. 81/4. 4873=425.16 (JiJG)
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R AR T H B R0 U R N 15%, A ORI TN
FE R T:  (P/A, 15%, 2) =1.6257; (P/A, 15%, 3)
=2.2832; (P/A, 15%, 6) =3.7845; (P/F, 15%, 3) =
0.6575; (P/F, 15%, 6) =0.4323.
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(1) BABEEKHEI=5000/2800=1.79 ()
i % sh A B andE, M. 2800X (P/A, 15%, n) =
5000
(P/A, 15%, n) =1.79
BT (P/A, 15%, 2) =1.6257, (P/A, 15%, 3) =
2. 2832

bl (n—2) / (3—2) = (1.79—1.6257) / (2.2832—
1. 6257)
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f18: n=2.25 (&)

7 E{E=2800X (P/A, 15%, 3) —5000=2800X2. 2832
—5000=1392. 96 (J370)

PUE 5 % =2800X (P/A, 15%, 3) /5000=
2800 % 2. 2832/5000=1. 28

5 PEFEE=1+1392. 96/5000=1. 28

(2) NCFO=—5000 (J37G)

EHT IHHEBE =4200/6 X 25%=175 (J37G)

NCF1~5= (2700—700) X (1—25%) +175=1675 (}j

JG.)



NCF6=1675-+800=2475 (J37G)
#EfHE=1675X (P/A, 15%, 6) +800X (P/F, 15%, 6)
—5000=1675X% 3. 7845+800 X 0. 4323—5000=1684. 88 (JjJG)
i =1684. 88/ (P/A, 15%, 6) =
1684. 88/3. 7845=445. 21 (JiJG)
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